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1.

a) Tarini Fancy Inc. is planning in the Office Building to connect all computers, each spread over within distance of 50 Meters. Suggest the economical cable type having high speed data transfer which can be used to connect these computers.


(1)

b) Given the following MAC address:

00.A0.C9.14.C8.29

Explain its parts 







(2)

c) Name the device links two networks with different protocols and it uses logical address.  (1)

d) Mr. Jayanto Das is confused between Shareware and Open source software. Mention at least two points of difference to help him understand the same.  (2)

e) ABC SWITCHGEARS Ltd in Srinagar is setting up the network between its different departments located in different withgs. There are 4 wings named as Manufacturing (M), Research ( R), Administration (A) and Personnel (P).


i. Suggest a suitable Topology for networking the computers of all wings (1)

ii. Name the wing where the Server is to be installed. Justify your answer. (1)

iii. Suggest the placement of Hub/Switch in the network. (1)

iv. Mention and economic technology to provide Internet accessibility to all wings. (1)

2.

a) While working in NetBeans, Rahul wants to display “cleared” or ‘Re-attempt required’ massage depending the marks entered in JTextField. Help him to choose more appropriate statement out of ‘if statement’ and ‘Swith statement’.  (1)

b) Write a statement to make JTextArea1 as un-editabel.    (1)

	c) Anuja is creating a form for her practical file. Help her to choose most appropriate controls from List Box, Combo Box, TextField, TextArea, Radio Button, Check Box, Label and Command Button for the following entries from user:

i. An input to choose more than one subjects from a set of given choices.

ii. An input for accepting Gender.

d) State and define the different types of Inheritance with neat diagram?
                         2

e) What will be the output of the following : Execution begins from main()?                        2

Class MAIN {

public MAIN( ) {

calculate( ); 

System.out.println (“Constructor”);

}

void calculate ( ) {

show()

System.out.println (“Calculating”);

}

void show  ( ) {

System.out.println (“I am displaying”);

}

public static void main (string args[ ]) {

MAIN one = new MAIN ( );

}

}

f) What are wrong with the following while loops?                                                            (3)

    i.       int ctr = 1;

             while (ctr < 100) {

             System.out.println(ctr);

            ctr..;

             }

g) i.   write the HTML code line to set the BGCOLOR as MAROON  (1)

ii. Which HTML tags are used for making a table and adding rows in a HTML document. (1) 
	½

½ 


iii. What is the Reset botton in HTML Form?  (1)

3. (i)
Given below the Form to calculate area and volume of circle and cube:

(a)
Write the code for calculate button to calculate area and volume depending on the choice of user?     (2)

(b)
Write the code clear all the controls when Clear button will be clicked?
1

(c)
Write the code for exit button so that when an user clicks on exit button 
1


Application will be closed.
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(ii)
What is an use of return key?






1


(iii)
What is the difference between Call by Value and Call by Reference?

2
(iv)
What is an use of Extends and Implements keyword in java?


2

           (v)
Which property is used in NetBeans so that only one radio button can be selected                    

                       out of many?                                                                                                        1


(vi)
Rewrite the following fragment using switch .                                           2

          

If (ch == ‘E’)



   East++;

If (ch == ‘W’)



   West++;

If (ch == ‘S’)



   South++;

If (ch == ‘N’)



   North++;


         Else 



Unknown++

4
(a)
Differentiate between COMMIT and ROLLBACK.




2


(b)
Given the following lab relations: Write SQL command for questions (i) to (vi) and the    

                       output for (vii).                                                  Table:Lab

	No
	Item Name
	Cost Per Item
	Quantity
	Date of Purchase
	Warranty
	Operational

	1
	Computer
	60000
	9
	2006-05-21
	2
	7

	2
	Printer
	15000
	3
	2007-05-21
	4
	2

	3
	Scanner
	18000
	1
	2008-08-29
	3
	1

	4
	Camera
	21000
	2
	2006-06-13
	1
	2

	5
	Hub
	8000
	1
	2009-06-13
	2
	1

	6
	UPS
	5000
	5
	2006-05-21
	1
	4

	7
	Plotter
	25000
	2
	2010-01-11
	2
	2


(i) To select the Item Name purchased after 2007-10-31.



1

(ii) To list the ItemName, Which are within the Warranty period till current date.
1

(iii) To list the ItemName in ascending order of the date of purchase where 

1

quantity is more than 3.

(iv) To display ItemName, CostPerItem, and Quantity whose warranty is over.
1

(v) To count the number of Items whose cost is more than 10000.


1

(vi) To insert a new record in the lab table with the following data:


1

8,’VCR’,10000,2,’2010-02-02’,1,2.

(vii)  Give the output of following SQL command:[Include the last inserted
2

 values in part(vi)]

a) SELECT MIN(DISTINCT QUANTITY) FROM LAB;

b) SELECT MIN(WARRANTY) FROM LAB WHERE QUANTITY=2;

c) SELECT SUM(COSTPERITEM) FROM LAB WHERE QUANTITY>2;

d) SELECT AVG(COSTPERITEM)FROM LAB WHERE DATEOFPURCHASE<’2009-01-01’;

5
(i)
Write the resulting output of the following:





2

a) SELECT 1000+SQRT(100);

b) SELECT TRIM(‘          ABS PUBLIC SCHOOL                 ‘);

c) SELECT ROUND(ROUND(407.39,1),-1);

d) SELECT LOWER(‘ABS PUBLIC SCHOOL’);

(ii)
What is Column Alias?







1

(iii)
What is the difference between Alter and Update Command
?


2

(iv)
What is Primary Key,Foreign Key and Candidate Key?



3

(v)
How could we get different entries from a table?




1

(vi)
What is the difference between Drop and Delete Command?


1

6
(a) If R1 is a relation with 5 rows and R2 is a relation with 6 rows and 7 columns,  
2


   then how many rows will be their in Cartesian product of R1 and R2? What is the


   degree of R2 table.


(b) Write an SQL query to create the table ‘Menu’ with the following structure.

6

	Field
	Type
	Constraint

	ItemCode
	Varchar(5)
	Primary Key

	Item Name
	Varchar(20)
	Default ‘CPU’

	Category
	Varchar(20)
	Check either Software or Hardware

	Price
	Decimal(5,2)
	Greater than 1000



(c)  Write SQL command to display current system date.



1


(d)  Write SQL command to list names of pets who have names ending with y.

1

7
(a) Define what is meant by an entity, attributes, entity set and relationship.   (3)      

(b)  How is e-governance benefitted the common man?       (2)
1
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Wing M�
15�
�
Wing R�
100�
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Wing A�
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Distance between various wings are given below


Wing A to Wing M�
100m�
�
Wing A to Wing R�
200m�
�
Wing A to Wing P�
400m�
�
Wing M to Wing R�
300m�
�
Wing M to Wing P�
100m�
�
Wing R to Wing P�
450m�
�






ii.         int val = 1;


            while (val < 100)


            System.out.print(val);


            Val++;


            












